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LINEAR INEQUALITY

Similar to a linear equation but uses an inequaltiy sign, shades the
solution and must be graphed.

k The solution is the shaded area of the graph

Multiple answers
Graphing linear inequalities:

* Put the inequality into slope-intercept form.

c D
Use a Sabd hne for = or =
Use a dotted line for & 7

>0 S\ade above
< ¢ Shade beloww

Jan 31-12:11 PM

Jan 31-12:13 PM




Untitled.notebook

vy > %*—5
(L, L)
a> F()-s

2> 2l (o)
., .31
12 3(s)-5

January 31, 2018

Jan 31-12:23 PM

| y>g*>

~
+17
.
L R4
ozt
1

Jan 31-12:34 PM

Y&
>
S
<>
=N
Jan 31-12:33 PM
>
5.15 723
—~ _x+°%
= -1 -
< x-8

Jan 31-12:35 PM

Jan 31-12:40 PM

q) X7 %

Jan 31-12:41 PM




Untitled.notebook

L. ax-by< -af
(2

L 2%

& sl
VY E -XX-Y
- - -6

> 3x+Y

Jan 31-12:42 PM

January 31, 2018



	Page 1
	Page 2
	Page 3

